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B[R] 2,711 209 4 272 212 72 3,408
SRR 615 86 1 55 83 23 840
aFR8 718 68 4 64 115 41 969
=R 1,772 122 9 144 290 122 2,337
AR 546 86 1 20 65 11 718
LR 758 91 3 39 112 41 1,003
mEE 1,595 117 12 91 291 108 2,106
KR 3,030 185 9 231 502 213 3,957
N 2,062 112 7 128 364 163 2,673
HER 2,464 141 1 121 450 166 3,177
BEE 9,155 470 9 705 1,692 540 12,031
FEE 6,505 284 7 493 1,205 444 8,494
RRED 15,345 602 17 1,015 2,259 1,125 19,238
fESNS 11,708 267 10 561 1,961 758 14,507
Hino i 1,440 140 4 103 281 105 1,968
2R 756 73 0 70 142 55 1,041
alllR 875 76 2 96 113 53 1,162
BHE 640 35 2 30 86 26 793
LLBR 811 28 3 47 155 47 1,044
REFE 1,580 88 4 77 330 132 2,079
I RIS 1,898 161 4 87 374 149 2,524
EEIR 3,337 171 6 191 837 319 4,542
BHE 9,587 376 19 445 1,811 800 12,238
=ER 1,721 126 1 110 443 123 2,401
BER 1,045 70 6 78 229 57 1,428
RERRT 2,009 174 3 151 539 247 2,876
ABRAT 8,532 526 37 722 1,695 856 11,512
"ER 4,881 209 3 192 985 451 6,270
ZRE 977 59 2 41 173 43 1,252
AL 693 47 4 39 178 40 961
SWE 395 19 0] 8 61 23 483
ERE 417 26 1 13 130 27 587
A L= 1,436 159 5 114 344 141 2,058
LBE 2,159 138 5 113 554 232 2,969
Hijm[= 1,011 79 5 56 223 43 1,374
e 441 26 0 24 107 25 598
&HIIE 735 64 1 64 149 58 1,013
BER 805 85 2 a7 248 101 1,187
=S 369 16 1 13 108 28 507
ERR 4,300 246 18 258 896 362 5,718
EER 399 50 0 29 122 48 600
RIBE 692 32 2 23 177 61 926
HEARIR 980 69 1 72 222 100 1,344
AHE 693 52 2 29 189 53 965
=IFE 669 59 2 44 158 37 932
BREE 835 68 9 39 176 61 1,127
FHEE 293 3 3 4 59 33 362
tT=4 0 0 0 0 0 0 0

a&t 116,395 6,390 251 7,368 21,895 8,763 152,299
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B[R] 1,912 140 0] 185 168 49 2,405
SRR 494 45 0 37 73 17 649
aF= 523 40 0] 38 92 32 693
=R 1,251 65 1 79 236 87 1,632
AR 401 73 0 12 58 6 544
LR 573 76 0 33 a0 29 772
mEE 1,170 69 5 52 238 76 1,534
KR 2,256 127 4 150 413 159 2,950
N 1,534 84 0 92 308 130 2,018
HER 1,836 78 0 93 356 108 2,363
BEE 6,627 319 0] 509 1,294 343 8,749
FEE 4,687 183 3 305 968 322 6,146
RRED 10,851 423 2 768 1,773 865 13,817
fESNS 8,869 194 2 396 1,628 586 11,089
Hino i 1,055 80 2 61 225 79 1,423
2R 531 59 0 59 120 48 769
alllR 615 56 2 84 85 38 842
BHE 474 21 2 23 69 19 589
LIS 593 18 0] 30 134 36 775
REFE 1,121 55 1 61 276 108 1,514
I RIS 1,392 92 1 64 330 122 1,879
EEIR 2519 105 4 123 708 243 3,459
BHE 6,960 239 5 296 1,545 660 9,045
=ER 1,334 83 0 71 389 99 1,877
BER 803 30 1 50 197 41 1,081
RERRT 1,520 127 0 119 421 172 2,187
ABRAT 6,205 348 5 511 1,371 641 8,440
"ER 3,496 136 2 116 834 358 4,584
ZRE 721 31 0 24 154 38 930
AL 491 27 0 25 152 34 695
SR 289 8 0 5 47 15 349
ERE 324 10 0 7 109 17 450
A L= 1,018 97 0 66 284 97 1,465
LBE 1,626 75 0 63 448 166 2212
Hijm[= 767 52 2 39 190 31 1,050
e 343 18 0 12 98 19 471
&HIIE 528 46 0 46 116 44 736
BER 558 66 2 33 208 74 867
=S 294 10 0] 9 93 21 406
ERR 2,935 127 7 147 744 269 3,960
EER 313 23 0 15 99 37 450
RIBE 541 16 0 14 149 49 720
HEARIR 714 41 0] 46 192 79 993
AHE 484 28 1 11 167 41 691
=IFE 524 32 1 27 139 28 723
BREE 634 44 6 26 152 48 862
RIS 202 2 0] 2 45 24 251
tT=4 0 0 0 0 0 0 0

a&t 84,908 4,118 61 5,034 17,985 6,604 112,106




